ERpmR N R T
4 4FB8 () K& (BY)

FEEEE Hiy 5 (FH) | ZE (FH) A=
AR x 108 32 1,500
AS kg 129 54 600
= kg 260 65 300
T DF (XK£E) kg - - -
% kg h8 22 600
FEANY kg 97 54 1,200
(Fo2NAEH 3 - - 0
INEF kg 648 324 40
B4 F kg 504 468 100
== ke 594 108 200
FUT5TZ 1 Z - =
L X% X ke 92 22 1,000
B ke 281 86 1,007
B kg - - -
B 1] - - -
7 X ke 346 203 275
A A kg 713 140 624
E—v> ke 378 238 300
DA ke - - -
=X 3 - - -
A =}I= X - - -
72z N7 - - -
1T kg - - =
XKL RD kg - = -
CEI kg 810 716 8
HZ kg 518 216 170
& th= kg 226 108 1,000
EES kg 378 216 49
& kg 459 216 800
5o &L D kg - - -
= kg - - -
FHE kg 1, 296 323 Ji

_____ =l ES - = -
L 3 - - -
INRE 3 - - -
Fe kg - - -
FooOE & - - -
*F kg 216 130 261
B A 74 - - -
#Hig (20'8) kg - - -
g (> 313 W} ) kg 540 432 -
HiE (5 L) kg 540 497 -

_____ EHGH. kg - - =
i kg - - -
E3 kg - - -
= A4 2/0g 292 227 -
HIFE kg - - -
D kg = - -
EADA kg - - -
=LA X0 kg - - -
FOTRAX O kg - - -
THRNIX O kg - - -
Ih—=—AZ X0 kg 605 432 -
251 12/ - - -
YE—h—/L 1 - Z z
EE kg - - -
T F kg - - -
F N/ kg - z -
—a—NIJ—=A ke - — -
—a—EF—F kg - - =
SYrA U XAAYF | ke - - -
2 kg - - -
FKLL kg - - -

_____ KL kg - - -
e L kg - = -
iR} kg - - -
v J— kg 6, 480 b, 940 -
Avars kg - - -

| HE kg = - -
FEIE 10% - — -




